Maytag MFR25MCAVS 19 - BASKET & OUTER SHELL ASSY. (SERIES 11)

Maytag Commercial Maytag MFR25MCAVS Washer Parts Parts Diagram 19 - BASKET & OUTER SHELL ASSY.

SERIES 11
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 NLA Not Available TUB (COMPLETE)
002 23003336 23003749 Drum/Shaft
003 23003338 Tub
004 23003340 Base Plate
" NLA Not Available g%&) Ll (SUNES
005 23001383 Plate, Back
006 NLA Not Available RING
007 NLA Not Available SHIELD
008 23001386 Gasket, Shell
009 23001200 Hinge, Mirco Switch
010 23001206 Bracket, Motor Harness
011 23001708 Washer
012 23001594 Heating Element Hole Plug
013 23001333 23004485 Lock Washer M5

014 23001592 Adaptor


http://www.pwslaundry.com/c-299370-commercial-maytag-mfr25mcavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799221-maytag-23003749-washer-drum-shaft.html
http://www.pwslaundry.com/i-7798964-maytag-23003338-washer-tub.html
http://www.pwslaundry.com/i-7798965-maytag-23003340-washer-base-plate.html
http://www.pwslaundry.com/i-7797895-maytag-23001383-washer-plate-back.html
http://www.pwslaundry.com/i-7797896-maytag-23001386-washer-gasket-shell.html
http://www.pwslaundry.com/i-7797778-maytag-23001200-washer-hinge-mirco-switch.html
http://www.pwslaundry.com/i-7797783-maytag-23001206-washer-bracket-motor-harness.html
http://www.pwslaundry.com/i-7798062-maytag-23001708-washer-washer.html
http://www.pwslaundry.com/i-7797996-maytag-23001594-washer-heating-element-hole-plug.html
http://www.pwslaundry.com/i-7799901-maytag-23004485-washer-lock-washer-m5.html
http://www.pwslaundry.com/i-7797994-maytag-23001592-washer-adaptor.html

015

016

017
018
019
020
021
022
023
024
025
027
028
029
030
031
032
033

23002179

NLA

NLA
NLA
NLA
23002847

23002358
23001607

NLA
23002466
NLA
23002894
23002617

23001204

23001088

23002646

23002398
23002399

23001205

23001266

8184504

23003484
23001777

23002473

23001089
23001014

Not Available

Not Available
Not Available
Not Available

Not Available

Not Available

Washer Nut M14

INJECTOR (LOW
PRESSURE)

ELBOW (1/27)

TUBE (1/27)

CLAMP, STEAM TUBE
Bolt

LOCK WASHER M8
Nut M8

CLAMP, SUPPORT
Nut

VALVE, STEAM (1/2™)
Screw

Screw, Drive

Washer, Finishing
Rubber, Protective
Screw

Screw

Nut M4


http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7797782-maytag-23001205-washer-bolt.html
http://www.pwslaundry.com/i-7798395-maytag-23002358-washer-washer-m8.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-10763571-maytag-8184504-washer-nut.html
http://www.pwslaundry.com/i-7799061-maytag-23003484-washer-screw.html
http://www.pwslaundry.com/i-7798101-maytag-23001777-washer-screw-drive.html
http://www.pwslaundry.com/i-7797781-maytag-23001204-washer-washer-finishing.html
http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7798522-maytag-23002646-washer-screw.html
http://www.pwslaundry.com/i-7797695-maytag-23001089-washer-screw.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html

	Maytag MFR25MCAVS 19 - BASKET & OUTER SHELL ASSY. (SERIES 11)

